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g | A B | BB [kick oFF|wvyFNo. *TEEH—K B Hh =15 TE
1 48238 £ | 1000 | 327 | /kiRUFC VS KE B KIRIT %G

1 4H23A * | 1215 | 328 | —E% VS KIRT B KIRIT%G KiRT
1 48238 £ | 1430 | 329 JKiR— VS FE By KR TEG

2 4F30H| * | 1000 | 330 T VS KIRT BN KIRIT %G

2 | 48308| L | 1215 | 331 KIRE VS  JKIRUFC | B HKRIT%G KiRT
2 48308| * | 1430 | 332 KR VS  —EERE | BMH KIRTXEG

3 5838 X | 1000 | 334 | /KRUFC VS JKiR— BN O OHZBEHLIE

3 5A38| X | 12115 | 333 TR VS KiRE BN |#D oA % BMILE| KIRUFC
3 5838| X | 1430 | 335 KRT VS A& BN DO OHZBEMILES

4 | 58148 £ | 1000 | 336 KRB VS KRT B KRS RR—YSUR

4 | 5148 £ | 12115 | 337 AE VS T BN ARV RRE—YTUR| KIRE
4 | 58148| £ | 1430 | 338 JKiR— VS —EEEE | BMH KRV RR—YSUF

5 68250 *+ | 1000 | 341 | /KRUFC VS T BN KRB %G

5 6H25A| + | 1215 | 340 | —B9¥fE VS KiRE B KIRBZEG KiRE
5 68250 + | 14:30 | 339 JKiR— VS RE By KIREZEG

6 7828 £ | 1000 | 342 | —E%k VS JKRUFC | BT |# DDA ZBMILE

6 7828| x | 12115 | 343 KR VS JKR— BT |#DOALEMILEG| KR—
6 7828| £ | 1430 | 344 KIRE VS RE BT |# D OH L BMILE

7 798| £ | 1000 | 345 JKiR— VS KiRE BT | KRShHLDOE

7 798| £ | 12115 | 346 T &% VS —B%mkE | B | KRSKhHLDOE | KR—
7 798| * | 1430 | 347 | /kRUFC VS JKIRT B | KRS hHLDE

8 7H168| * | 1000 | 348 T VS JKiR— BT |# DDA L BMILIEG

8 78168| £ | 12215 | 349 RE VS  JKRUFC | B |#D># % BMILE| KIRUFC
8 7H168| * | 1430 | 350 KRT VS —BERR | BT %O o#ZEMIEE

9 7A308( *x | 1000 | 351 —B%RE VS K&K —Em KIRIT%G

9 7H308| *+ | 1215 | 352 KIRT VS T — KIRTEG TEx
9 7H308| * | 1430 | 353 | /KiRUFC VS KRB —Em KIRT%EG

10 8A6H| * | 1000 | 354 KE Vs HKIRT —@W |[FEIZ2=T4L5

10 8A6HA| L | 12115 | 355 KIRE VS TR —BF |FEIz2=F<E8| XE
10 8A6H| + | 1430 | 356 JKiR— VS  KIRUFC | —HBmW |FEBIZa=T+kL5

11 | 8811B| &K | 1000 | 357 | —EE%¥kE VS KiR— —BEW |[FBIZa=FT«4515

11 | 8A118B| K | 12:15 | 358 JKRT VS KRB —BH | FBaS1=—T/L5| —BE¥kR
11 | 8A11H|[ K | 1430 | 359 T VS RE —BW [FBa3Zza=F«4L15

12 | 8A208| X | 10:00 | 360 FEx VS KRUFC | —BwW |FEBIZa=T//L5

12 | 88208 £ | 1215 | 361 KE Vs JKiR— —BEh |[FEIZa=T/515| —BFk
12 | 8A208] * | 14:30 | 362 KR E VS  —B%¥k | —BW |FEIZ2=T41L5G

13 | 8A278| X | 1000 | 363 KiRT VS KIRUFC | —MwW |FEBIZa=T/L5

13 | 8A278| X | 1215 | 364 KIRE VS JKiR— —@H |FEIZ2=T/EE| FE
13 | 8A278| * | 1430 | 365 | —B9%¥kE VS TE —Bt | FEAZa=TALE

14 9A3H| £ | 1000 | 366 KE Vs KiRE B %D o#ZBMILE

14 9B3H| £ | 1215 | 367 | /KRUFC VvS —B8%kk | B |#DO2#AZBMEEl K=E
14 9A3H| * | 1430 | 368 JKiR— VS KIRT B %D 2#ZBMILE




